HW - Metric System II

Name____________________


I.  How many significant figures?


_____ 1)  46.1

______ 6)  36.300

______ 11)  400


_____ 2)  5

______ 7)  41.00


______ 12)  4θ0


_____ 3)  30

______ 8)  4010


______ 13)  40θ

_____ 4)  0.004

______ 9)  0.005010

______ 14)  400.0


_____ 5)  10.004

______ 10)  -38.3001

______ 15)  0.00400

II. Perform the following calculations.  Make sure your answer has the correct number of sig figs.

______________ 1)  36.5 x 10.0


_______________ 6)  45.1 / 2.000

______________ 2)  71.15 x 38.71


_______________ 7)  45.1 / 2

______________ 3)  1 x 17


_______________ 8)  8 / 153.1

______________ 4)  4θ0 x 40.0


_______________ 9)  6.44 / 6.44

______________ 5)  0.0005 x 361.32

_______________ 10)  36 / 36

11)       500


12)    1θ0


13)      60.0

              36.11


           41.00


         -   7.815

      +    555


        +   5


         ------------

      --------------


      ------------

14)  (3.0 x 10-6)(4.440 x 10-24) = 
15)  (7.45 x 107) (2 x 104) (3.1056 x 10-7) = 

16)  (4.71 x 10-9) (-7.22 x 1043)  = 

17)     
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18)    
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III.  Metric Conversions.  Make sure your answer has the correct number of sig figs.

_________________ 1)  65 s = ? ms

_________________ 2)  3.42 g = ? kg

_________________ 3)  7.12 x 10-6 kJ = ? mJ

_________________ 4)  340,000 cm = ? km

_________________ 5)  34.5 cm3 = ? mL

_________________ 6)  My pinkie is about 1.2 cm in width.  How many millimeters is that?

_________________ 7)  If it is 3089 miles from New York City to San Francisco,  how many kilometers is that?

8)  If I make the trip in #7 in two (2.00) non-stop days 

a.  what was my average speed in km/hr?

b.  what was my average speed in miles/hr?

_________________ 9)  How many milliliters of water can this glass hold?





Vcyl = r2h




[image: image3]
_________________ 10)  In Shakespeare’s Richard III, the First Murderer says:





“Take that and that!  [stabs Clarence]





If that is not enough,  I’ll drown you in the malmsey butt [one butt] within!”




Given that 1 butt = 126 gallons, 4 quarts = 1 gallon, and 1 Liter = 1.06 quarts,  in how 




many liters of malmsey (a foul brew similar to mead) was the unfortunate Clarence about




to be drowned?

- adapted from Chemistry by Stephen S. Zumdahl

r = 0.45 dm





h = 2.56 dm
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